repeating the same table 10 times, but with different offsets:

blah blah.

header

we increase the offset.

example cell with 11 2.1
colspan 1 and

rowspan 2 1.2 29
cell testl big cell

cell test2

header

example cell with 11 2.1
colspan 1 and

rowspan 2 1.2 29
cell testl big cell

cell test2

header

example cell with 11 2.1
colspan 1 and

rowspan 2 1.2 29
cell testl big cell

cell test2




blah blah.

blah blah.

header

we use an offset 0.

example cell with 1.1 2.1
colspan 1 and

rowspan 2 1.2 29
cell testl big cell

cell test2

header

example cell with 1.1 2.1
colspan 1 and

rowspan 2 1.2 29
cell testl big cell

cell test2

header

example cell with 1.1 2.1
colspan 1 and

rowspan 2 1.2 29
cell testl big cell

cell test2




blah blah.

header

example cell with 11 2.1
colspan 1 and
rowspan 2 1.2 29
cell testl big cell
cell test2

blah blah.
header
example cell with 11 2.1
colspan 1 and
rowspan 2 1.2 29
cell testl big cell
cell test2

A negativeroffset.
header
example cell with 11 2.1
colspan 1 and
rowspan 2 1.2 29
cell testl big cell
cell test2

blah blah.
header
example cell with 1.1 2.1

colspan 1 and




rowspan 2

1.2

2.2

cell testl

cell test2




